Name ______________________________________________

Quiz #1, Math 102, Autumn 2007

1. List the elements in the subset for each of the following based on the set 
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.  If there is no element in the set corresponding to the subset, indicate with the empty set symbol Ø.
a. Natural Numbers: Ø
b. Integers: 
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c. Rational Numbers: 
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d. Irrational Numbers:  
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e. Real Numbers: 
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2. Write the following statements as algebraic expressions.

a. The quotient of twice a number and thirteen. 
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b. One more than six times a number. 6x + 1
c. Twice the sum of a number and three. 2(x+3)
3. a. Evaluate the following expression for x = 2 and y = -5 and z = 3.
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b. Simplify.
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